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| Time: 10 Minutes | Paper Math 7(T-1) |  Total Marks: 10

| 4th Month, 4th Week, IstDay |  Review Exercise3Q#(1tod) |

Q.1. Choose the correct options. 0.5x6=3) -() /;/l‘?ll(..,alﬁu/)

(i) The area of circle with radius 3cm is:

(a) 9nem’ ®)| 18rnem’ (©) 3ncm’ @| 16rmem’

(ii) 14:00 in 12-hour clock is: e ~d}fﬁl}g12rl4:00
(@)| 01:00am [(b) 2:00 p.m ©]| 01:00pm |(d)| 02:00p.m
(iii) 16km = ?

(a) 0.16m (b) 16cm (©) 16000cm | (d) 16000m
(iv) Imm3=?

@ Lor (O e (O o’ [@ ——cm’

10 100 1000 10000

(v) The surface area of triangular prisim with £ = 8cm, b = 4cm, h = 3cm:

B 3K CL 2302 57 s 2 57 88U ke

@@| 120cm®> |()| 108cm® | (c) 96cm’ (d) 78cm’?
(vi) Tem?=?

(a) 10mm?>  |[(b)| 100mm?> |[(¢)| 1000mm> |(d)| 10000mm?
¥ Answer the following questions: - ;..,J:?Lcaﬂl/d 3t
Q.2. Convert. (1x2=2) sy

(i) 5700 m into km and m. _uf/"'f/ﬂ/'f}@}fﬂoo

GRS S8
Q.3. The park near Hamnah's house is 1km 200m. What is the length of park
in m? (1x2=2)

S YRGS - L2200 8 1 L o S AL o

(ii) 585mm into cm and mm.

Q.4. Complete the table. (1x3=3) _Q:/J{Jug
Sr. No. 12 hour time 24 hour time
=k 12 =kl 24
@) 5:00 a.m
(ii) 22:35
(iii) 18:15
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